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OorEerSII(Xe) (Z=0t2) 500
SESUIHIAS (MMH) 2,310,000 0 2,310,000
= 1,155,000
s 346,500
s 808,500
403 AXIEHHSA=201H 2,310,000 0 2,310,000
= 1,155,000
= 346,500
o 808,500
02 SISOt =2 A 2 E A I 2,310,000 0 2,310,000
O=E32AUHFHI(MMH) 2,310,000
= 1,155,000
= 346,500
[Ea 808,500
BHSI0Y RIS (HIDIRAIA) AXIALY 180,000 180,000
401 Al HIZ S OHbI 180,000 180,000
01 A28l 180,000 180,000
OusiOte AR E=S(HIDHEHAIE ) EX At
(Z=QIROI0IA) 180,000
sELACIEE 2,075,002 2,875,440 800,438
= 97,250
= 86,175
= 1,891,577
HsHEI|BtEE 2,075,002 2,875,440 A800,438
= 97,250
< 86,175
[Ea 1,891,577
HsHE L2 =8 8,244 8,528 A284
201 el 4,404 4,688 N284
01 At22t2lt] 4,404 4,688 A284
OFSTE 2195 &4 g
100,000 5 & »33] 1,500
OHsHE &t =257 600
@=] 8,000& x4 +63|x 123 2,304
202 04| 3,840 3,840
01 =LHO LI 3,840 3,840
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2A:
X XH -
o e

=aak

- HyS

Ofl &F2H

MEE
Ofl &k2h

20,0003 x4 +45|x 12

3,840

HASAHE RAKSA

Mo

194,500
97,250
29,175
68,075

165,000

29,500

HoH W

37,680
18,840

5,652
13,188

45,000

AT7,320

04 JIZUtNZ2E2XNSE =

OJ1ZtM22 Xt

—JlZ2=

U

|
HT
0

elAHI(8oHE)
77,0002 x2F 167

77,0003 2 x342

77,0003 x2H+82

77,0003 %2 +52+1.5

H H W HoH W HoH W Mo W

HH W

37,680
37,680
25,718
12,859
3,858
9,001
5,236
2,618
785
1,833
1,232
616
184
432
1,155
578
173
404
4,339
2,169
652
1,518

44,520

6,840

HH W

12,020
6,010
1,803
4,207

30,000

217,980

01 AtR2t2lt]
O sFHEHE

02 3224l

OFAsHEHH

£22 7

o=

HoH W

2,520
2,520
1,260

378

882
3,000
3,000

20,000

10,000

217,480

AT7,000
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2A:
PSER
o e

el

N -8 S2A(SIH) - HRAY - B

Ofl &F2H

MEE
Ofl &k2h

03 A2 I

OB4HSsD2Y

3,250,000& 22/

HoH W

HoH W

1,500

450
1,050
6,500
6,500
3,250

975
2,275

6,500

Mo W

18,800
9,400
2,820
6,580

45,000

226,200

8,0003 +30E * 10 x 141 %23

N 200,000 x 15 *22]

14 DBt 243
SEONA &0t2D]
300,000& x5 H 42

OsuIEIt 23 100,000&x2Z+10&

HH W

HH W

HH W

HH W

10,800
10,800

4,800
2,400

720
1,680
6,000
3,000

900
2,100
8,000

6,000
3,000
900
2,100
2,000
1,000
300
700

25,000

20,000

214,200

212,000

307 212t01™

HH W

69,000
34,500
10,350
24,150

45,000

24,000

1,600,000& x5 *x4&

O7s Megsgd 29

35,000,000 *14]

HH W

69,000

32,000
16,000

4,800
11,200
35,000

45,000

24,000




S =9
XEH: ==
[ I =}

=
Rl AsHE

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

17,500
5,250
12,250
oolsord 24 2,000,000& %12 2,000
1,000

300

700

HoH W

Mo W

401 AIEHIZL 2 0HYI 17,000 0 17,000
8,500
2,550
5,950

Mo W

01 AlZHI 17,000 0 17,000
OFASHELH BIJIEAIE & HOAIL 17,000
8,500
2,550
5,950

Mo W

402 SI2ERHE01 M 40,000 0 40,000
20,000
6,000
14,000

Mo W

02 RIEN AL E X (01 M THR) 40,000 0 40,000
OFsela &8 =4 40,000,000 *10H 2~ 40,000

20,000
6,000
14,000

Mo W

SEXNY SR (HsHEELSRIY) (HEAL 114,000 148,000 34,000

57,000
57,000

Mo

101 e124d| 20,860 20,234 626
10,430
10,430

MO

04 JIZtN22 X S8+ 20,860 20,234 626
OFsHELH J12tH 22Xt 20,860

—Jl==s 77,0003 2 +812 12,474
6,237
6,237
—FeEs2sE 77,0002 <2+ 17 2,618
1,309
1,309
— Xt 77,0003 24 616
308
308

M M

A H




SN SYEH
B sEANRE
ol AsHEIIEES EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
—5L2F+ 77,0003 x2H*22*1.5 462
= 231
= 231
—28= 2,129,730& 2,130
=S 1,065
s 1,065
—OdH 2,560,000 2,560
< 1,280
s 1,280
201 er2&| 54,440 43,266 1,174
= 27,220
Ea 27,220
01 AF22t2ltl 14,504 40,266 ND5,762
O=AD| gtz 120,000& * 122 1,440
=S 720
e 720
O&EI|ex= 60,0002 «12& 720
= 360
s 360
OFISHE AU M=
3,000,000 *32] 9,000
= 4,500
o 4,500
OAIY HdEYARIRE =&
100,000 2 »23] 400
< 200
s 200
OEAIY us &8 200,000 *23] 400
= 200
Ea 200
OASHESEAALH 225 72
100,000« 12& 1,200
< 600
T 600
OSAIEAFY 28,0003 »42t A% 123 1,344
= 672
[Ea 672
02 S3=gHl 3,000 3,000 0
Odzx & & RERsS
100,000 »12& 1,200
S 600
[Ea 600
OAsHESSANHHE dot+===
150,000& * 12 1,800
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SN SYEH
M SELNCIEFE
ol AsHEIIEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 900
s 900
03 A=Y 36,936 0 36,936
OAs7IE 2gsl FIH33l) 20,000
= 10,000
[Ea 10,000
OXD BHsHs ABWS
3,000,000+22] 6,000
[ 3,000
T 3,000
OHsHaEstn 24 10,936
= 5,468
Ea 5,468
301 EtE NS 17,700 38,400 A20,700
== 8,850
o 8,850
11 AALEIXIES 7,700 20,900 /13,200
OZAIDY DS U A
250,000& x3E *22] 1,500
S 750
= 750
OHsHE 33 £33 500,000 22 1,000
= 500
o 500
OAsHE 2&sl &IH33!) 3,600
< 1,800
[Ea 1,800
OF=s MEstn FIHAF AlH|
8,0003 20 10! 1,600
= 800
Ea 800
14 0Bt 2a3 10,000 17,500 AT7,500
OHEAEY 23 200,000 x5 10 10,000
== 5,000
o 5,000
307 elztol & 21,000 46,100 225,100
= 10,500
= 10,500
02 2B HAIHE & 21,000 46,100 A25,100
Os0tel g5 N3 € WsJI2e 24
2,000,000 *49H 2= 8,000
= 4,000
o 4,000
ont==g3l 500,000 *26H 2= 13,000
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SN SYHD
M SELNCIEFE
el AsAHEIIRES (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,500
s 6,500
Al HE=AIE 29 141,258 42,912 98,346
101 @12A4H| 39,138 19,122 20,016
MU IIRINZZE2NSES 39,138 19,122 20,016
OXMME & HAEGIRA 2e| 22,198
—JIZ2S(=2HAIE)
77,0002 x 1 =204 16,708
—REFLSH(SHAL)
77,0002 x 18 40 3,080
—FL2RFY(SHAE)
77,0002 x 12 %102+ 1. 54K 1,185
—AUHEEES(sEAE) 18,788,000%12% 2,255
OsEAIE 22 Ry E 28x
77,0003 x2E*110& 16,940
201 Ler23| 42,120 23,790 18,330
01 At2teltl 10,120 9,790 330
OHE =9AME & 53 NRES S
110,000« 123 1,320
oax2s 7¢ 8,800,000+ 14! 8,800
2 Ss52g4l 32,000 14,000 18,000
orIIga s 1,000,000+ 12& 12,000
OAlE=E RAE= 10,000,000 14 10,000
O=ReldHl |Xl2el 5,000,000%24 10,000
206 MH=H| 10,000 10,000
01 M=4l 10,000 10,000
OMZHI(EHI, BX, 28, st S)
10,000,000% 14! 10,000
207 ARl 50,000 50,000
02 MAHHZHI 50,000 50,000
OOl MAAIAE = 50,000,000%14] 50,000
HAsAHEL =8 ==cld| X2 40,000 40,000 0
402 2I2FX+=01 & 40,000 40,000
01 QI X2 AL E R (KEHITH) 40,000 40,000
OHsHER =8 2clbl N&
10,000, 0002 *8H 2 +50% 40,000
7ls - AEY FE AF A XA 6,000 5,000 1,000
402 2I2FXH=201H 6,000 5,000 1,000
01 IR SASE X (XHMITHR) 6,000 5,000 1,000
OFs - AEL =8 A= ZAHl X2
4,000, 000& *3= I ++50% 6,000
SAl HAFAIE AL (ES) (HEAY) 1,501,000 937,000 564,000
401 Al HIZ 2018 1,450,000 937,000 513,000
01 Al&H| 1,450,000 914,000 536,000




SN SYEH
M SELNCIEFE
ol AsHEIIEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLAl HFAIE ZHA(E=+5) 1,450,000
405 KHaHF S| 51,000 51,000
01 ML ESF SHI 51,000 51,000
OYAl H=AIE ZEMA(EHSE) 51,000
CAE H5sd MEsE A 70,000 70,000
401 Al HIZ R 0HbI 30,000 30,000
01 AlZ8| 30,000 30,000
OZA2 &4&=8 MeEsd &4 30,000
405 AHAHE S 40,000 40,000
01 AL =S F = 40,000 40,000
Ot & HIS ¢ 40,000
2L (LA 46,936 102,182 N55,246
=238l 46,936 102,182 55,246
JI23Hl 46,936 102,182 55,246
201 et 3| 28,376 44,782 16,406
01 At2t2l] 20,588 21,132 Ab44
OtI2H=ZE 2,340
=N 15,0002 «35%+ 12 540
— XXl 10,0002 x 155 * 122 1,800
O=sAEAFY
26,7003 x 182t Ax 1200 2 5,768
OSAPI X2 660,000 * 122 7,920
OARES I 285,000 122 3,420
O&=J1gU= 47,5002« 128 570
O3JIZE)| gl 47,5002« 1238 570
02 s3=gHl 7,788 23,650 A15,862
OZEXY FFU 1,796& »250L* 123 5,388
O2AEXE FAl2ell
600,000 *1CH*43] 2,400
202 04l 3,360 3,360
01 =LHOHI 3,360 3,360
OFMEZ =0
20,0002 *20EH 122 *7(f% 3,360
203 =4l 15,200 9,040 6,160
01 D22 HARFA| 6,000 0 6,000
OsatgAad=E(42) 6,000
03 A=A R =] 5,000 0 5,000
OsttgALd=aE(42) 5,000
M RFAZSLRFAI 4,200 4,200 0
OFRMEgERxd 350,000& 12 4,200
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